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QUESTION 1

Which three objectives must be considered when designing the chart of accounts? 

A. Effectively manage an organization\\'s financial business. 

B. Consider implementing a single, global chart of accounts 

C. Anticipate growth and maintenance needs as organizational changes occur. 

D. Limit the number of segments to those you need today to reduce data entry. 

E. Try to use all 30 segments and 25 characters per segment because you cannot change It later. 

Correct Answer: BCE 

 

QUESTION 2

Which reporting tool is best suited for submitting high-volume transactional reports, such as invoice Registers or Trial
Balance reports, that can be configured to extract the data in Rich Text Format or XML? 

A. Financial Reporting Center 

B. Oracle Transactional Business Intelligence (OTBI) 

C. Intelligence Publisher (BI Publish. 

D. Smart View 

E. Oracle Business Intelligence Applications (OBIA) 

Correct Answer: A 

 

QUESTION 3

Which two statements are true regarding the export/import of reports? 

A. A set of reports are provided for both exported and imported setup data to validate the export/import processes and
setup data. 

B. Reports on setup data can be used to compare and analyze how the data might have changed over time. 

C. To view errors encountered during the export or import Process, you must use SQL queries to obtain that data
because no reports exist. 

D. A set of reports lists user names, suppliers, and customers that have been exported/imported 

E. The export/import reports are available only for Fusion Customer Relationship Management. 

Correct Answer: CE 
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QUESTION 4

You want to automatically post journal batches imported from subledger source to prevent accidental edits of deletions
of the subledger sources journals, which could cause an out -of- balance situation between your sub ledgers and
general ledger. 

Which two aspects should you consider when defining your AutoPost Criteria? 

A. Use the Alloption for category and accounting period to reduce maintenance and ensure that all imported journals are
included in the posting process. 

B. Include all of your sub ledger sources in the AutoPost Criteria. Divide up criteria sets by subledger source only if you
need to schedule different posting times. 

C. Create your AutoPost criteria using minimal source and categories. 

D. Schedule your AutoPost Criteria set to run during off-peak hours only 

Correct Answer: A 

 

QUESTION 5

You want to define a tree or hierarchy for use in reports and allocations. 

What three aspects should you remember when creating the tree? 

A. You need to flatten the rows to be able to use drilldown in Smart View and you must publishtree to view the hierarchy
in Essbase cubes. 

B. You must flatten the columns and publish the tree to view the hierarchy in Essbase cubes. 

C. The tree should have at least two tree versions to reduce report and allocation maintenance. 

D. You only need to flatten the columns if you plan to use the hierarchy in Oracle Transactional Business Intelligence
(OTBI). 

E. It is fine to have the same child value roll up to two or more different parent values. 

Correct Answer: BDE 
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